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: Ja
Step Task 1 Task 2 Task 3
Initial 10 15 20
Row Reduction 0 5 10
Column Reduction | 0 0 5
Final Assignment | Agent 1 — Task 1 | Agent 2 — Task 2 | Agent 3 — Task 3
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Iteration | Task 1 Price | Task 2 Price | Task 3 Price | Assignments
Initial 0 0 0 None
Iteration1 | 8 5 7 Agent 1 — Task 1
Iteration 2 | 10 6 9 Agent 2 — Task 3
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Region | Salesperson A | Salesperson B | Salesperson C | Assignment
North | 10 15 20 Salesperson A — North
South |12 10 14 Salesperson B — South
iall Ll dlea 40idle)
Ad Slot | Campaign X Profit | Campaign Y Profit | Opportunity Cost | Assignment
Slotl |8 6 2 Campaign X — Slot 1
Orfigall e (Bagadl) Cpaund ;A Al 2.5
- USial
(el anlaed Chagy 448y s CBlaa 5 1 (3 fi5e 5 panads
Influencer | Campaign A | Campaign B | Campaign C | Assignment
Alice 8 6 9 Campaign C
Bob 7 5 8 Campaign A
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